Residual Diagnostics

Residuals vs Fitted

50000
40000 — P48 620
vB0000
$0000 —
210000
(O] 0 —
®10000
-20000 —
[ [ [ [
275000 280000 285000 290000
Fitted values
% Scale-Location
3 15 - @EC B o
u o)
o 0 o Q o
1.0
; % o o
= [e] (e} o O
g 056 o %o %® oo
© o o) o
c o) Oo
8 0.0 -
% I I I I
275000 280000 285000 290000

Fitted values

Standardized residuals

Standardized residuals

Normal Q-Q

00 06268680

Leverage

-0
| | | | |
-2 -1 0 1 2
Theoretical Quantiles
Residuals vs Leverage
- - - Cook’s distance
| | | | | |
0.00 0.05 0.10 0.15 0.20 0.25



